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QUESTION 1

An EMC Isilon cluster is being configured for a Media and Entertainment customer. The customer\\'s workflow consists
primarily of video playback, requiring a very aggressive prefetch.

What data layout access pattern is appropriate?
A. Streaming

B. Concurrency

C. Random

D. Default

Correct Answer: A

QUESTION 2

What is the name of the default access zone in an EMC Isilon cluster?
A. System zone

B. Static zone

C. Dynamic zone

D. Configuration zone

Correct Answer: A

QUESTION 3

A customer is using an EMC Isilon cluster solely for user\\'s home directories. Secure protocol communication was a
requirement in the design of their cluster configuration

Which feature of the SMB protocol could be disabled to improve performance?
A. Oplocks

B. Packet signing

C. Credit limits

D. Stateful

Correct Answer: A

QUESTION 4
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What is provided by using link aggregation?

A. Failover mechanism for stateful protocols

B. Failover across EMC Isilon cluster nodes

C. Failover mechanism for stateless protocols

D. Increased overall throughput for a single client

Correct Answer: A

QUESTION 5

What is used to reduce the time to ACK to the client for synchronous writes?
A. Endurant Cache

B. L1 Cache

C. FAST Cache

D. L2 Cache

Correct Answer: A

QUESTION 6

What client protocols are supported to provide access to EMC Isilon clusters?
A. SMB, NFS, HTTP, FTP, and HDFS

B. AFP, CIFS, NFS, TCP, and UDP

C. SMB, NFS, HTTP, FTP, and SMTP

D. TFTP, CIFS, NFS, SSL, and TCP

Correct Answer: A

QUESTION 7

What is the default behavior when a UNIX NFSv3 client executes a chmod command when the EMC Isilon ACL policy is
configured as Windows only?

A. The UNIX client receives an error on the chmod request
B. The chmod request is granted and a corresponding Windows ACE is added into the file or folder\\'s ACL

C. The existing Windows ACL is converted to UNIX security
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D. The existing synthetic ACL is converted to a Windows ACL

Correct Answer: A

QUESTION 8

A customer wants to test the failover and fail back capabilities of their SmartLock directories using SynclQ. What should
you advise the customer?

A. Failover is a one-way event with SmartLock directories

B. Fail back is supported with SmartLock directories

C. Committed files on the target can be replicated back to the original source directories
D. SynclQ can revert SmartLock directories on the source cluster

Correct Answer: A

QUESTION 9

An EMC Isilon administrator is attempting to limit disk usage and control the visible capacity of a share to SMB clients.
Which quota type gives the administrator this ability?

A. Hard quota on Directory
B. Hard quota on Group
C. Soft quota on Directory
D. Soft quota on User

Correct Answer: A

QUESTION 10

Which RBAC role is required for an administrator to assign other administrators, roles, and priviledges?
A. SecurityAdmin

B. AuditAdmin

C. SystemAdmin

D. BackupAdmin

Correct Answer: A

QUESTION 11
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An Internet hosting company has customers requesting a total of 200 TB of storage. The hosting company currently has
50 TB of storage available. What should be implemented to satisfy customer requirements?

A. Thin provisioning
B. Soft user quotas
C. Default group quotas
D. Advisory user quotas

Correct Answer: A

QUESTION 12

An RHEL client is connecting to an EMC Isilon cluster using NFSv3. How is client response traffic routed out of the
cluster?

A. Highest priority gateway

B. 1 GigE NICs on node with highest LNN

C. 10 GigE NICs on node with lowest node ID
D. Lowest priority gateway

Correct Answer: A

QUESTION 13

Which identity type is an example of a primary identifier?
A.SID

B. MPIO

C. Username

D. PID

Correct Answer: A

QUESTION 14

Recently an EMC Isilon cluster was upgraded from version 7.0.1.3 to version 7.0.2.9. What is included in this degree of
upgrade?

A. Maintenance release, new features, functions, and fixes

B. Code patches and minor functionality enhancements only
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C. Major change in functionality, new features, and functions
D. Code patches and minor fixes only

Correct Answer: A

QUESTION 15

What is the minimum number of SSIPs required for an EMC Isilon cluster?
A. 1 per cluster

B. 1 per pool

C. 1 per subnet

D. 1 per node

Correct Answer: A
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